FORD LDM Localization - 0 [0 #2762
00O #2519 (0 O O): Ford_SYSR: System Requirement
00 #2563 (0 O O): Ford_SYSRO FS_REQ0043_V2 Bin Class Current Setting

Ford_SWER_0043_00020 Bin Resistor Sample For App
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App should sample the RBIN value and convert to the resistor.

Optionl:the BIN resistor is in one of the BIN range

The RBIN current should be used.Software shoule compare the RBIN current with the NVM BIN.The BIN current is different from the value in NVM,
software should store the new RBIN current in NVM to replace the previous value.

Option2:the BIN resistor is out of all the BIN range

1)The NVM current is invalid.Software should use the minimum current of the channel. And set BIN error via LIN.

1)The NVM current is valid.Software should use the NVM current of the channel. And set BIN error via LIN.
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